gningnij, 2009-4-22

ALK 2002 FEMEAFFTAENEH AR
FRRH AR
—. (1570 WHES ARG 1 Pir, EORARGNE IR 0 %=0.2, WEHRH tp=1s, K.
1. H8 55 K S 5t AR K 2 A
2. MRIEPFRMIKMK L, THEAZ ARG ETHR TN 55 Hts.

K
slg+1

k(=) Ciz)

1+X&,s

B 1

(20 41) WRIBARGWE 2 s, RIEBEK, KRG RH AL R AP REFRAR K
1. YA RIS, RS IR e, <0.35.

2. HMH S RIBEE € <0.707.

3. HHEETH] ts<<3s.

= Q07 —HAEHIRGWE 3 PR, rt)=t i, EORRGMFEARZENT 0.2, Hf G
AT 6dB, R L K R HETE

' 2 20K
E(s) %@ s+2 (s +20) CiY

E 3

V0. (20 730) RFEERGWE 4 Pios, WfE RGRGE R K ETEH .

Ris T)i 1—g7" rd Cl:s:l\
_% g s+1

Ti. (15 49 e By=x Fi s ARtk oo IR i 2R thx=Asin(wt), XA, y
it

N. (1070 U &5 G, (s) = VLA EE DRI R GE Bl BE S o

s(Ts+1)



